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1.  What is the solution to the system: 


a) (4, 0)		b) (1, 4)		c) (4, 1)		d) (-1, 4)
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2.  
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3. 





4. A sum of money amounting too $3.70 consists of dimes and quarters.  There are 19 coins in all, how many are quarters?
a) 12 quarters              b) 9 quarters                  c) 7 quarters                   d) 17 quarters 




5. 
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The math club sells candy bars and drinks during football games.

. 60 candy bars and 110 drinks will sell for $265.
. 120 candy bars and 90 drinks will sell for $270.

How much does each candy bar sell for?

(Note: Express the answer in dollars.cents.)
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Two times Antonio’s age plus three times Sarah’s age equals 34. Sarah’s age is
also five times Antonio’s age. How old is Sarah?
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Only chocolate and vanilla ice cream cones are sold at an ice cream store. In one day. the
number of chocolate cones sold was 1 more than 4 times the number of vanilla cones sold.
A total of 121 cones were sold that day.

Let ¢ = the number of chocolate cones sold.
Let v = the number of vanilla cones sold.

e Write equations to determine the number of chocolate cones sold that day.
e Use the equations to determine the number of chocolate cones sold that day.

Show your work using words, numbers, and/or diagrams.




